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General Instructions

viii)

The question paper comprises of two Sections, A and B. You arc to attempt both the
scctions

All questions are compulsory

There is na overall choice. However, internal choice has been provided in all the five
questions of five marks category. Only one option in such questions is 1o be attempted

Al questions of Section-A and all questions of Section-B are to be attempted separately
Question numbers 1 t0 3 in Section-A are one mark questions. These are to be answered in

one word or in one sentence,

Question numbers 4 to 7 in Sections-A are two marks questions. These are to be answered
in about 30 words cach
Question numbers 8 to 19 in Section-A arc three marks questions. These are to be answered

i about 50 words each

Question numbers 20 1o 24 in Section-A arc five marks questions. These are to be answered
i about 70 words cach

Question numbers 25 1o 42 in Section-B are multiple choice questions based on practical
skills. Each question is a one mark question. You are to select one most appropriate

response out of the four provided to you
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W # Ieqifea yeara! faga aw F sl fafed | w@de Y A ae fwad st
feen sepfia et @2

Write the frequency of alternating current (AC) in India. How many times per
second it changes ifs direction ?

THEAREAA T U Sareor A |
State one example of chemotropism.

TR 91 HeErRl F S & A9HE 791§ e & arewm F sia @ e s w0
1 ferfiard | ”

Name the energy obtained from sea or ocean water due to the difference in
temperature at the surface and in deeper sections of these water bodies.

Tt st & Frafafaa o w1 s wf

H; + Clz— 2HC1

(i) aifufin 1w vEmt |

(i) ¥ v R sfufra F v er Saw & wafer vanfe arfte fafed |

Study the following equation of a chemical reaction
Ha + Cl— 2HCI

(i)  Identify the type of reaction

(i)  Write a balanced chemical equation of another example of this type of
reaction.

T U A e

(@) 0w wEEH S ¥

(b)  fore e g §)

(©) Si g g W st sifedtor @ sifufpar Ad s
(dy S i =

Name a metal which ;

(a) is the best conductor of heat

(b)  hasa very low melting point

() does not react with oxygen even at high temperature
(d)  is most ductile

(i) I AT T Y e o W e w5 wfiy fei e

()  wfrE @S] A fafed )

[0} List three factors on which the resistance of a conductor depends.

(ii) Write the SI unit of resistivity

forelt B gaw F wRi SR Jawy & vard @il | Heswta @ vand d@ien ¥ fag
vAFa qfer w1 A fafad

Draw magnetic field lines around a bar magnet. Name the device which is used
to draw magnetic field lines.
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@) vage Wil ) uE Sead sifafiar i e s &2
(i) T e ¥ A A @ S R W A W ow et T e g

fafad
(i) forem Seqreen farom 7 dfera ) e K e A g = @ 2
(i)  Why is respiration considered as an exothermic reaction ?

(i)  Write chemical name and the formula of the brown gas produced during
thermal decomposition of lead nitrate.

(iii) Why do chips manufacturers flush bags of chips with gas such as
nitrogen ?

sty st fad wen 7 Frsfafaa sifufrasti § swafua aun sowfaa wemt
= e

(i)  FeOs + 2Al— ALO; + 2Fe

(ii) 2PbO + C — 2Pb + CO;

What is a reduction reaction ?

Identify the substances that are oxidised and the substances that are reduced in
the following reaction.

()  FeOs + 2Al— ALO; + 2Fe

(i) 2PbO + C— 2Pb + COz

i % NaOH & afufea @ v fiftfa oot % =m fafed ders aifufean &
wiqfera T wE fafed | sfafma % S som fa w5 et fes e w
fer witem farfed |

Write the names of the products formed when zinc reacts with NaOH. Also write
the balanced chemical equation for the reaction involved. Write a test to confirm
the presence of the gas evolved during this reaction.

(a) @ A wfufra w0 W Hfewan o W F A0 w87 sifufa & ferw

Hefera wamfe wrtm fafed |
(by A g % A fafEd s @ sl T ww
(a)  Why does calcium start floating when it reacts with water ? Write the

balanced chemical equation of the reaction
(b)  Name two metals which do not react with water.

et 8 3 AR 1 =T 0.5 i, qe wREET 1.6 10 "Qm ¥1 TR i fEw s

w1 Wiy 100 Em?  afe dEd § ufteds 6 fen s W g w fea s A

v § feeran oftads dm 2

A copper wire has diameter 0.5 mm and resistivity 1.6 x 10" *Qm. Calculate the

length of this wire to make its resistance 10Q. How much does the resistance

change if the diameter is doubled without changing its length ?

(a) AT S 3 Al & i § S W wE = R e R

(b)  fom o % and g v s 2 g % T fafad

(© 220V 3 @ i forega aew Wi &1 uR AR 25 A ¥ e ) afa
gfteRfera Ffsr |

(a)  Why is tungsten used for making bulb filaments of incandescent lamps.

w
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(b)  Name any two electric devices based on heating effect of electric current
() An electric bulb is connected to a 220V generator. The current is 2.5 A
Calculate the power of the bulb.

(@) Pt fag urra e e AR % SR SR oo gaw dw @ fae @
Frwifi a3 =nen afwr ewa sig Fraw fafed

(b) e & fEE wewR gt € afs
(i) e H wanfea s i FE A
(i) TR F wefe v R R sehfie e d e

(a) State Right Hand Thumb rule to find the direction of the magnetic field
around a current carrying straight conductor.

(b)  How will the magnetic field be affected on :

()  increasing the current through the conductor
(ii) reversing the direction of flow of current in the conductor.

sftan # drw F fafim =il # uw e a9 TwifEa fow F wemw @ e
wferd |

Explain with the help of neat and well labelled diagrams the different steps
involved in nutrition in Amoeba

(@)  fre wwoft = o sferd

| enmawem | defw@ e | e we
T

R rEEEY)

@ | e eme T TRl T o

| Foraifem e &
i i B

(b) i T 3 freel <t el T e
(a)  Complete the following table

Name of the Gland which Function of the
hormone secrets the hormone |
hormone |
B by Thyroid
(i) | Growth Hormone | Regulates growth and
development of the body
i) Tnsulin Pancreas T

hree characteristics of animals hormones.

(b)
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(@) s o w1 U e fam wed aun s Amifea i
@) BT o
(ii) <iferepar
(b) =TS HfETSR T A WA
@) e G G v ?
Gi) v gt qen waem & fd s ¥

(a)  Draw aneat diagrarii'of a neuron and label
() dendrite and
(i)  axon
(b)  Which part of the human brain is :
@) the main thinking part of the brain 7
(i)  responsible for maintaining the posture and balance of the body ?

it wfad et v o S @ sed s & fing ot g swe s e
seqreet & fordt =Tél e s &1 Qo w2 ot o fafed

Nuclear power is an excellent non - conventional source of energy. Still it is not
used commonly for power generation. Why ? State three reasons.

ferga it Searew W snefa A feeg WA e S o g H e s fafed
iffeetfa o T qun whme 9, fawenfia i & wdeee e w5 g &
ey o &1 | fadg gam e ?

State the main difference between thermal power and hydro power plants based

on electricity generation. Name two dams/projects which were opposed due to
the problems of rehabilitation of displaced people, damage to the ecosystem etc.

Frreaferfiaa % wRor e

(a)  smafyE DT & T T st 39 e €

(by  wifeurs @ Hdfee 8 g T m #)

(© T & e e w st ot o ddt ¥

() T gen TE Wi W A FO W e wel i s €1

(&) m’@sﬂ‘iﬁﬁm%fﬁqlmwﬁﬁmmﬁawﬂﬁﬁnﬁ

arfameel # afEffa s s #)
Give reason for the following :
()  ionic compounds have higher melting point and higher boiling point
(b)  Sodium is kept immersed in kerosene.
() reaction of calcium with water is less violent
(d) silver articles become black after some time when exposed to air.
()  Prior to reduction the metal sulphides and carbonates must be converted

into metal oxides for extracting metals.
arerEt / OR
it ST ST (CuyS) A o WehT i foen s €2 qram e we fofed

e foe Wb uftepa fean S 82 it fot @ v & fafy & m wfew e
wiferd ?
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How is copper obtained from its ore (Cu;S) ? Write only the chemical equations
How is copper thus obtained refined. Name and explain the process along with a
labelled diagram.

s
wifean wsglaane fha v sefza frn st @7 s dgferm vamafes adE
faferd | w5 wfiren =1 sein-r afiran w4 s s ¥ ? T whEn ¥

(a) e
(b)  FHeirEw

v searl 3 7 ferferd | i & weten 1w Swe fafed
How is sodium hydroxide produced ? Write the balanced chemical equation also
Why is this process called as chlor - alkali process ? In this process name the
products given off at
(@)  anode -
(b)  cathode

Write one use of each of these products.

Fgar / OR

foreeer =1 oo ol wed §2 Torelt T sivenfirer fires =i @ s ve Tl ga
Faferd forel a0 sta & 1o a1 fireeer &1 wie O &1 T8 fora werr e fean s
2 wwe At wetwn o fefed | ww A ¥ @ s G

What is water of crystallization ? Write the common name and chemical formula
of a commercially important compound which has ten water molecules as water

of erystallization. How is this compound obtained ? Write the chemical equation
also. List any two uses of this compound.

#im =1 frem fafad ) 53 we & quisd | fag T wftae stea #, oo it
@) gy @1 Fer wrEt wfie
(i) v wfades § wefea s

+

State ohm’s law. Represent it graphically. In the given circuit diagram calculate

@
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(a)
(b)

(a)

®
@

(b)

the total effective resistance of the circuit.
the current through each resistor,

o=

Hgar / OR

e et i afta

it T A AR Ry, R, 9901 Ry 1 G0 WRAH Ry + Ry +Ra &1
fag =ifer

s U W wfs § f @ v w uRid 80 #1280 1 wAwE
wferr o ¥ et g uferdiven] i e wer wAfsa 2

Define one ampere.

Prove that the equivalent resistance of three resistors Ry, Ry and Ry in

series is Ry + Rz + Ry
You have four resistors of 8Q each. Show how would you connect these
resistors to have effective resistance of 8.

wferfer fird wed §2 faelt el aftaferm & s of ww SR e
&5 it w0 uft ¥ ferd o wiifed | wfenferm % sfiar 3o gawTa &9
I e |

e F e s % € il w g aed )

What is a solenoid ? Draw a diagram to show field lines of the magnetic
field through and around a current carrying solenoid. State the use of
magnetic field produced inside a solenoid.

List two properties of magnetic lines of force

agar / OR

fareft wiey forea aftwy 1 sy i wifed forad guitan wn @
(i) - HYE TR (i) TS S

(i) ferera wiex qan (v) oo ata

sifasmr qen weaeE § fade Hifd |

Draw a schematic diagram of a common domestic circuit showing
provision of

()  Earthwire, (i)  Main fuse

(iii)  Electricity meterand (iv) distribution box

Distinguish between Short Circuiting and Overloading.
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(@) fafimr Sigsit & w@m & fagen ¥ @ fim vl = =ofd gu weme w@fa
A |
(b) A W S A v avie w1 A ffed
© TR FS W U WA 9 I F e W w fated |
o
(a)  Draw a flow chart showing the three different pathways involved in the
breakdown of glucose in different organisms.
(b) Name the respiratory pigment present in human beings.
© State the function of rings of cartilage present in our throat
379/t / OR
(a) T eSO e T e agn e sl At st
@ b
i T
i) Eefedt
(iv) A
() g Rl e E7 FfR @ o aun g w AR e § gasn g
w1 IerE i ?
(a)  Draw aneat diagram of the human excretory system and label the
following parts
()  Urethra
()  Kidney
(ili)  Ureter
(iv)  Urinary bladder
(b)  What are nephrons. How is a nephron involved in the filtration of blood
and formation of urine ?
Wrm-a/ SECTION - B
Aftan weirge e #1afsan gotbe oo # faert w fifda s 1 4 @m
@) e (b)y =N © waq @ =
The colour of the precipitate formed when barium chloride solution is mixed
with sodium sulphate solution is :
(@)  blue (b)  black (©)  white (d)  green
forelt w0 A ww yrEEe ¥ ww HE Wew wethe w1 w1 sw Frefafaa feo
i
(i) TR TR W g0 w
() STeR wewd iy ol s fra fredt
(i) ot § O w SR wer B e @
Gv) S e st gd
Ragoll o1 Wl HHE ¥
@ ) (), Gv) (b) () (i) (iii)
© (i), (iii), (iv) (d) (i), (i), (iv)
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A student heated small amount of ferrous sulphate in a test tube. She made the
following observations.

(i)  Ferrous colours sulphate changes to brown

(i) A gas having a smell of burning sulphur is evolved

(iii)  Water droplets collect on the upper side of the test tube.

(iv)  Brown colured gas is evolved

The correct set of observations is :

@ (@) (), (i) (b) (i) (i) (i)

© @ (i) (v @ (i), @), (iv)

pH 4w el g & A w6 o e vl w7 v e pH T O e g
TN EE TR -

(@ Hgww@ (b)  feEwan FmERE e

(© s @) e s

A drop of a liquid sample was put on the pH paper. It was observed that the
colour of the pH paper turned blue. The liquid sample is :

(a)  lemon juice (b)  sodium bicarbonate solution
()  distilled water (d)  hydrochloric acid

A fererrl, X aen Y # pH FH9: 4 997 10 IR 71 TR Aw fred fraerm
(@)  XERE Ty s R

(by Xy 2 st fae #1

() X g amy aw T

(d)  xaary 2 AR E

Two solutions X and Y were found to have pH value of 4 and 10 respectively. The
inference that can be drawn is

(a)  Xisabaseand Y is an acid
(b)  Both Xand Y are acidic solutions.
()  Xisanacidand Y is a base

(d)  BothXand Y are bases

ﬁs‘mwﬁmonm#ﬂmnﬂmwmﬁaﬂaaﬁuzar—ﬁ%;f'aq
Fretferfia B sqe fEa sevaa i 2

() e feremw foema (b)  en foreww fread

() U e e # et (d) X F IR

Which one of the following would you need to identify the gas that evolve when
you heat NaOH solution with zinc metal ?

(@)  red litmus solution (b)  bluelitmus solution
© a burning splinter / match stick (d) lime water

o TR F e HR wehe faewa § et w6 % e 78w e
forer

(a) v € T A Hid W e RO R S T |

(b  fren € @ A e WOHE W T

(© wieRT B 8 T e W e oy w5 |

(d) TR B R v e R e A s
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An iron nail was suspended in copper sulphate solution. After about one hour it
was observed that the solution.
(a)  remained blue and a reddish brown coating was formed on the nail

()  remained blue and no coating was formed on the nail
()  turned pale green and a reddish brown coating was formed on the nail
(d)  turned pale green and no coating was formed on the nail

st faftfa S wethe qu i wiethe & we faeem waw: fed § 1
(a) I T A O (b) e en S
(@ e e e T (d) T B a1 Tew e

Freshly prepared aqueous solutions of ferrous sulphate and zinc sulphate
respectively appear

()  palegreenand colourless  (b)  blue and colourless
()  colourless and pale green  (d)  pale green and light blue
A femy T e seqiE § 1
1 2
OMG
@A)
@ 005A () 01A (© 02A (d) 025A
The least count of ammeter shown below is
1 2
oMa
A)
@ 005 A () 01A (© 02A (d) O

T B AR 1.5V F Tl B SYH 6V H A2 wAE #1 36F oT H 9 GER A Sgr 1
(St i forr o e 7 €)1

o —HHH— a —HHH~ amy —HHH~  av) —HHH-
T ST R

@ 1 () 1 (© m @ v

A student has to connect 4-eells of 1.5V each to form a battery of 6V. He connects the
cells in four different ways as shown.

o —H-HH+ am —=HH- ) —H-H= @y —HHH-
The correct arrangement is.

@ 1 b 1 (© I @ v
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HR1 (1) R faveiar # Frfar &1 steaa 6 & wdm §, @9 ol 3 s Gawi &
SR 9TV @] % ferg frerames @t

1 — o iy
1 g i i}
fora o ¥ Qe wed A, Aw R/ ¥
(@) FHEE I . (b) FEEBEN
() FE@eEm (d) | L 1A e

In the experiment “To study the dependence of potential difference on current (I),
three students plotted the following graphs between V and I as per their

respective observations.

1V le

1 n 1
The observations, likely to be correct are those of

student I only
all the students I, Il and I

(a)  studentTonly (b)
(©  studentIIl only ()

‘ez s A wfedel w1 ge afay Sm w9 % wEm F @ oni T tEe S
&1 figer il A faw e aftaed [ a9 A s Yeet w1 g W A e #

+oy= oy
W s
R‘l R'l
- +
D) Ry R,
+ e

n
(b) Fae uftgy 1 H
(d) 2t aftgsl 1awn i H e

1
(a) Fae uftayg 1§
() v el [ @ #H
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In the experiment ‘To find the equivalent resistance of two resistors, connected in
parallel’ two students connected the ammeter in two different ways as shown in
the given circuits [ and II. The ammeter has been correctly connected in :

@ Q-

P = CR

()  CircuitLonly (b)
() both thecircuits Tand II (d)  neither Inor I

fvitem & walfera 2wl w1 ged w3 w0 % g 8, deeder @ ad 1
wersr ferar rn § e e

Ry Ry
A
¢ ®
1| =
1 |
R e
R Ry R R
&)
] H
)| F—t>— L) | F—>—
£ I v X
(a) 1 (b) n# (© m#H (d) wvH

In the experiment on finding the equivalent resistance of two resistors, connected
in series, the voltmeter across the combination is connected correctly only in
circuit.
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(@)

Ry Ry Ry Ry
A - A
g g
L — L —
I n
R Q=
VA
R R Ry Ry
v B
+ i

m
I ® © m @ v

farelt @ 3 wavn foen fo werren wvdn wfan & ferd wema amevs 11 v W g
% v B e e WO ) sufiafi @ a0 g, v o e s
@ TR T AR 6 W T I T | GG 5O H N FE

(a)
(b)
(©

(d)

et w1 T ferd e
welt & e freprer |
et # Se BT
FerirETE ® 6fHa e

A student performed the experiment ‘To show that light is necessary for
photosynthesis’. Before carrying out the test for the presence of starch in a leaf on
exposure to sunlight, the leaf is put into alcohol contained in beaker and boiled

over a water bath, This step is carried out to :

(a)  extract starch

(b)  remove the chlorophyll from the leaf

()  allow water to move into the leaf

(d)  activate the chloroplasts

foreft w3 g O g i S T A E EE T w aE A e ad

3 e At v s ¥ T, 3w % o gy e Wi w5 e e
B e fag HOT % WA R oft

@)
(b)
©
(]

v 3 T CO, It el #1

T Her e % ferd Co, snavEE ¥
w1 Fger WAl 3 ford afee S ¥
WY ety e % ford v stEvas 1

A student covered a portion of the experimental leaf from a destarched plant
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with a black paper stripiand kept it in the garden outside. In the evening she
tested the covered portion of the leaf for the presence of starch. The student was
performing the experiment to verify that :

(@)  CO:is given out during respiration

(b)  COxis necessary for photosynthesis

(©)  Chlorophyll is necessary for photosynthesis
(d)  Lightis necessary for photosynthesis

uﬁaﬂmm?ﬂfgﬁﬁﬁiumﬁmm%ﬁmmﬂwmﬁﬁmam
i FuAm g ST A TEmEe e €

(@) i e frerd (b)  Afe st qen frewrde
()  frowds qen St (d) ufere e U1 A

In order to prepare a temporary mount of a leaf peel for observing stomata, the
chemicals used for staining and mounting respectively are :

(a)  Safraninand glycerin (b)  methyl orange and glycerin

()  glycerin and safranin (d)  ethyl alcohol and safranin

et % e o w0 faeh w1 st sdeo g Freffaa & A fe el
w1 BT T e ?

I foreeft @ arfftER T ) SIgd e @ w1

i eTEE e A feer S w & T )

o e e W e O o e s |

o e o e fe wi

v e @ s {1 gen ¥ forg freet Guw v 0

@ LI, b LILIV

© HULIV,V @ LI,V

Which of the following precautions should be kept in mind while preparing a
temporary mount of an epidermal peel of a leaf :

1 Wash off extra stain from the peel with distilled water
il Cleari slide and cover slip before use

IT  Putonly a drop of glycerin on the cover slip

IV Pull outa thin leaf peel

W Use filter paper to remove extra stain from the peel
(@ LI (® LIV

(© HLIV,V @ ILIV,V

gere 3 A O, Feafvfa dft @7 2@ ¥ v F KOH 1wl foe wivn & :
(a)  vaw @ F faw

(b) v & fad atfaom Suee w01 & el

© sigfa il gr seafsfa Co, # syt w0 & e

(d) e & W e wen s )

In the experiment to show that CO, is given out during respiration, KOH is used
to

(a)  enhance respiration

(b)  to release oxygen for respiration

()  toabsorb CO; released by germinating seeds
(d) to remove water vapour from the flask
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et ¥ SR CO, Seafor Bt &'zt 3 s # Frferfoa # @ #  wwatE

=t =nfie 2
(A)  YiFEET TR AT B e |
@®) e H e quiar e o =it
©) e B wmh B el aren fafifa KOH faerm e =ifet |
() foremr el @ v e TR A SR A e
T IWE
() ATWB () ATHC
() ABIWMC (d) A BIND
Which of the following precautions are to be taken to perform the experiment “To
show that CO; is given out during respiration.
(A)  Conical flask should be air tight
(B)  Seeds in the flask should be totally dry
(C) A small tube with freshly prepared KOH solution should be placed in
the flask
(D)  The end of the delivery tube should be above water level
The correct answer is :

(@) Aand B (b) AandC
() ABandC (d) A BandD

-000-
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